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Candidates have been called for written test based on the data furnished by them in the online

application. If you do not possess the required qualification as per our advertisement, your candidature
will be summarily rejected.

2. 3o fAu YE FE W g 3l gee-qeaw vd 3 v AR Il F R v et @
€1 § U o

Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet
before start answering.

3. wReA-TA, 80 WRE! & WY WeA-YREAEH & §7 A §, v ARvr eeraa ¥ awr v@F e 1 3%
o1 ¢ 5wd IR Reed €, 7 @ Fae v ey wds wdr 3

The question paper is in the form of Question Booklet with 80 Objective type questions based on the
curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.

4. nAfdE @O W AR 3o Al #F RY v el & IR, 3 wH IR SR e F Gea
JAGET I Ael/PTel TART & ael UIgT I ¥ FIaT F$ TE 3ok H 9T FT B

Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen, only as per the instructions given in the OMR answer sheet.

5. TR YRed & ol 9T Ty W el 9T A1 ud shoih T
Candidates should write their Name and Roll Number in the space provided in the Question Booklet.
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11.

12,

13:

14.

15

AT & 3cal &o7 & AT 37elT ¥ U 3 vH 3R i wer fhar S B

A separate OMR sheet is provided for answering the questions.

i AR 3cal TReadr Hf 7T & Ther &A1 ST @I 8, FHIAT Scc H HeATeld/Jeraell
AT 3T AU Stdl Sl a1ev] Fis AfaRed w3 ofic gar 6l &I Sreeil|

As the OMR answer sheet is being machine scanned, utmost care should be taken while handling /
bubbling answers. No spare OMR sheet will be provided.

g gfRaa ¥ ofif g F W AR weA gRaw1 15 (A/B/C/D/E) Fr 3T TH IR 3o ofie &
A a1 vuer w foraT s @niye

Question Booklet Code (A/B/CID/E) printed on the top right corner should be written in the
space provided in OMR Answer Sheet.

TS T 1 37 T §, 3eck o & W YeF 3 3R Ted Iook F ToIw 0.33 HumeAw 3| Tl
99T & Uah § 308 3cal Tad 3cad JAT S|

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong
answer. Multiple answers for a question will be treated as a wrong answer.

T Bidr & X Hegeicx, ASIgd Biel, TAIE A, SUC, Hesl Tch, TLIVIH dlfereT, HA/
TS FAT AT IS T Foiaciioldh ol o il &I AT Al gl g T g1y 9shs T aF 3o
T & B IEATT G & STl 3N W INUANR N Ao el AT STWT R W
3fieart & T@ATE 3T TAS S aTell FiET FRAS YE S ST 5H HU H AN JIEIse
UT Ug &1 YehIielaT SRl T HEc § drelel fohar Sier wifgvl

Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red
hand, they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal
action as deemed fit will be initiated against such Candidates. Instructions in this regard, already
published in our website may strictly be followed.

GoeT UF # Uelst T HT IUIRT I 1 & forw fFar s a@ehar g

Space available in the Question Booklet can be used for rough work.

e FATTT @ W, 3 T AR e fie F W RA wv Bg R @ o 3 Hqe 3 W I
3ot e e FY gI& FX & aur sE seelide wiw answedt sroe orw 1@ o 3w AW efie
BB §AY A0S WA el a1l

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at
the top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate
copy with candidates. Utmost care should be given while tearing the OMR Sheet.

AT T G{ET FATC gl & A1 el GUET §ldl Bise H IFA &l

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
qlaT & 916, IFAIGART F 3 T AR Seok Ireaa AR gEameiRa waer o9 gddets @ Hid oo

oifRul o it & uder o 99t @ 6T |l §, 3 3 TH 3R M W Aol & o
g 7&7 forar Sirwerm| waer o f9ar el 3wedr & et & dige Fr fSeaerT 3sgdl 1 &l

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will
not be considered for evaluation. Responsibility rests with the candidate to hand over the admit card to
the invigilator without fail.

3hol ST HERIOT & WAl &1 &1 WATOIR AT ST, gleiifeh 3elqart @ giaem & v fg=dr
# o uee fow aw §

The questions in English version alone will be taken as authentic though questions are given in Hindi
also for the convenience of the candidates.
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daliAgT ‘| (des¥) / TECHNICIAN ‘B’ (WELDER)

dlecs SISl & T WUAF TR #2471 §7

What are all the primary types of bolted joints?

(a) d=Id 3R GNEa / Tension & Compression

(b) FThET 3T FHaET / Compression & Shear

(¢) el 3R da1d / Shear & Tension

(d) I3 3R GG / Torsion & Tension

$9 QU a0 g7 & T =K x D x F, ¢ & Hlad T &2

In this given formula: T = K x D x F, which is the nut factor?
(@ T (b) K

© D @ F

sfoter ufar &, a5 Ao Rgia F1 § O0F qanT R arg SR ufmr & siawrer @
garfgd glar 87

In the Brazing process, what is the basic principle by which the filler metal flows into
the gap in the Brazing process?

(a) wea RS fRAT / Centrifugal action (b)  YHR AT / Diffusion action
(c) hfR&T fRAT / Capillary action (d) WQ'UT / Gravitation

ﬁﬂﬁﬂ@aﬁﬁraﬁrm%ﬁmﬁ2m3®$m§3ﬁaﬁﬁﬂﬁﬁaﬁrmaﬁ#
ST 4T &l Tgae 3R yared axa Siier Sirar &

Brazing is a metal joining process in which 2 or more metals are joined by melting and
flowing the filler metal having melting temperature;

(a) ToAeadr HT@B%’T I qeledl H & / Lower than that of the adjoining metals

(b) Tepead arg3il A gore F H#fw / Higher than that of the adjoining metals

(¢) fospeadt Eﬂ?—pﬁ H ¥ TS & TAR / Same as that of one of the adjoining metals

(d) 450°C & & / Lower than 450° C

9 SISt &1 dieha 3R T e & S e

The relationship between the strength of braze joints and the joint gap;

(a) Tiehal ST dlehcd & @ ST § / Brazing strength decreases

(b) <€iehel &I dlehdd 9 STaT & / Brazing strength increases

(¢c) <Tiohel T AR FHA & ST § 3R T 96 S & / Brazing strength decreases and

then increases

(d) cidhel ST drhd Fedr g 3R i ge Sy ¢ / Brazing strength increases and then

decreases
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10.

mem%ﬁﬁammﬁmgmﬁﬁwmmﬁ%m
T @1Y e Srar g1 S 1 39T HAR 9 R ST 6

Seaming is a process in which two partly hemmed edges are joined together to form a
seal. Seams are commonly used in;

(a) Wed 3¢ / Food Industry

(b) #1asT fAHATOT 3T A B & AEY / Roofing sheets in the Building Industry
() (2) 3R (b) @&l / Both (a) and (b)

(d) 3Ued H ¥ HIg w8l / None of the above

Oreefer ufehar # Faad &1 399 8T ¢

The usage of flux in the soldering process is;

(a) AT @lest RIGH FT gl & ToIT / To remove excess solder metal

(b) 3iTErss AT & Ukl & AT / To prevent oxide formation

(¢) drest ?I@' & aar & GUR T / To improve the fluidity of solder metal
(d) S5 # el 3918 H 8o & ToIw / To fill up the gap in the joint

PR Sl @ shrt Rega sfety ARsT ¥ siadd e §2

Which are the following processes fall under Electric resistance welding?

(a) T afesar / Spot welding (b)  ufHT AfeS9T / Thermit welding
(c) o afesar / EB welding () oo dfesdT/ Laser welding

TrTaf@d & O Sl sofdes s UlRaT & 3iadid #1eT 317TdT &7
Which of the following do not fall under the Electric welding process?

(a) TaTwice dfesar / Explosive welding (b))  &1H gfeser / Seam welding
(¢) oo dfesd / Laser welding (d) Teier &€ dfessr / Flash butt welding

MIG 3R MAG afeger ufsransii &1 @i derelichl «TH &1 §?
What is the common technical name for MIG and MAG welding processes?

(a) GTAW (b) SMAW
(cg GMAW (d) SAW
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11

12.

13.

14.

He3Ter Aeel 3T Afeser afkar F oo amr aify & 3R] e &

The higher travel speed in the Manual Metal Arc Welding process leads to;

(a) dos &5 & 3w S 3 FAE / More width and height of weld bead
(b) ThIUT o8 HeAHT / Narrow weld bead

(c) ol AU / Slag Inclusions

(d) 3i=&e / Undercut

el grsdl S Tefecan/ars BT & v sifed-cfRRftda 3fssT & B9 o &1 &t =
qraf&ear & Srdr &2

For stelliting / hard facing of steel pipes which type of flame is preferred in
Oxy-acetylene welding?

(a) dETY =darell / Neutral Flame

(b) 3FHHRS FaTel / Oxydising flame

(c) SHERISTSET FaTell / Carburising flame

(d) 39T H & HIS AT / None of the above

WR-UATE §aiete & fow &t &1 amaer = 872
What is the flame temperature for the Air-acetylene combination?

(a) 2700-2800°C (b) 1825-1875°C
(¢) 3100-3300°C (d)  2400-2700°C

gooh TIeT T WG &1 SAlsel & folv Fad 3edT ot & 39T far orar &

The best flame used to join mild steel sheets is

(a) SIS Farer / Carburizing flame

(b) 3TFHIHIOT T / Oxidizing flame
(c) 3T &drd drell sarell / High-Pressure Flame

(d) deET =arell / Neutral Flame
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15.

16.

17,

18.

19.

afeser & fT wged e §

The transformer used for welding is a

(a) & FHEH W / Step down

(b) hEH ST / Step up

(¢) TI-URT / Self-induced

(d) Trads arer gawRR / Slipping transformer

I FIead & T & AT &t & g 3w ddiee &1 39T fRar Sar §2
Which gas combination of flame is used for gas-cutting operations?

(a) iterdr-ura et / Oxy-Acetylene

(b) 3iTFH-gEse / Oxy-Hydrogen

(¢) 3iferdT-sraer 3 / Oxy-Coal gas

(d) 3ifeFE-Tadis / Oxy-LPG

quT el o ToT Sarell & 3ierdiole 3 TRATEeNe & &gel 3e[uld 4T glell TIigu?

For complete combustion, what should be the combustion ratio of Oxygen and Acetylene
in flame?

(@ 11 (b) 1:1.5

() 1:2.0 (d) 1:2.5

afeseT & dgel SISl #H ¥ 3T (@l T 3597 4T g7

The purpose of having root gaps in joints before welding is

(a) TeT & Far ¥ g9 & T / To avoid Lack of Fusion

(b) TIEC FATAUT ¥ Fda & T / To avoid Tungsten Inclusions
(c) UAY &F FHHAT T FTT & AT / To avoid Lack of penetration

(d) EIRT & F°7 & T / To avoid cracks

PrrTaiflra 3 & @i d afeser afar IRwgsrr AfeEa & ietar e 42
Among the following, which welding process falls under non-fusion welding?
(a) STel#dd 37 dfesdl / Submerged Arc welding

(b) sﬁﬁiﬁ‘ﬂ &9 dfeser / Electron Beam Welding

(¢) T e 3 AfesaT / Gas Tungsten Arc welding

(d) gYuT 3feS9T / Friction welding
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20.

21.

22.

23.

24.

e a3t A afeser & forw gwdier yaar F1 gHR Fdd|
For welding of sheet metals, state the kind of polarity preferred.

(a)
(b)
(©)
(d)

HhRTcHS / Positive

Jefcl / Reverse

(a) 31X (b) &A1 / Both (a) and (b)
3RFT H & @IS 8T / None of the above

38 E7018-1 H4R dfes9T salagis gofieeor &, “H4” 31T &ear &
In this E7018-1 H4R welding Electrode classification, “H4” indicates;

(@)
(b)
()
(d

gfFa R[gvane / Strength Characteristics

fSgrarhr d0TgedT / Radiography quality

AN T GOBTOT HT I ST & / Meets absorbed moisture test
gregieled af¥d / Hydrogen controlled

de8 THEX & FROT §;

The reason for weld spatters is;

(a)
(b)
(©)
(d)

®H dlecsl IR 3T ORT / Lower Voltage and higher current
HH UNT 3R 3Ta diees / Lower current and higher voltage
®H dlecst AR A 4RI / Lower voltage and lower current
3WIeFd H ¥ $1S 78T / None of the above

Sl A1 dfesar wfsrar aRReror 3 3R AT goeels & TSl &1 39T e &7

Which welding process uses the combination of shielding gas and continuous electrodes?

(a) GTAW (b) GMAW

(c) SMAW (d EBW

AT S5 i AT §?

Which one is the temporary joint?

(a) Sirelr afes / Forged Welding (b) HreX GfUISE' ! Cotter Joint
(c) €Tl / Brazing (d) T @M= / Soldering

7 T75-TN(W)



25.

26.

217.

28.

29.

GTAW #H TIFCA HI 39T Soldels o &I H FAI [ohdl SATdT 87

Why Tungsten is used as an Electrode in GTAW?

(a) TICT T Ielalish el gial ¢l / Tungsten has a Lower Melting point

(b) adi ¥ §aa & AT / To Avoid defects

(¢) TIECS & AT 3T BIT & / Tungsten has a Higher melting point

(d) 3IREFd H & HIg 6T / None of the above

T 1 Rges FT agdsT g

The melting temperature of Lead is:

(a) 327°C (b)
(¢) 280°C @)

3sTehed, desie #H glel arel des alv §

227°C
357°C

Undercuts are weld defects in weldments caused due to

(a) & afesdT Fe / Low welding current

(b) 3ca®$ dATesdT Fc / Excessive welding current

(c) 3Wg Tdg / Unclean surfaces
(d) 3wfEe 3fer / Improper earthing

drA-afeser ¢

Seam-welding is

(a) HFed-Tdie AfesIr Uiehar / Multi-spot welding process

(b) TAd Ture dfegar ufhar / Continuous spot welding process

(c) SITel STt & AT 3udier fhar Sirar & / Used to form a mesh

(d) dAPR TEGHT #T dfesa & fav 3uAET fHRAr Sar § / Used for welding

cylindrical objects

gffie afcser fFgesr s w7 §72

Thermit welding is a form of
(a) 9fcRIer afesar / Resistance welding (b)
() Wgoled afeser / Fusion welding (d)

g afeser / Gas welding
Hol afegdl / Forge welding

775-TN(W)



30.

31.

32.

33.

eiehel aTel SiiET & fav Fefafla & & S @ aaw #eg ¥

Which of the following is strongest for brazing joints?
(a) 3G / Lap

(b) &< / Butt

(c) T=I (ST §37) / Scarf (inclined)

(d) @A ®T T HAd & / All are equally strong

Raw qreiér afese &

In reverse polarity welding

(a) $eIFEIS Elost whRIcAS ¥ 8T 8l § AR THRIcAs ¥ w1 ol § / Electrode
holder is connected to the negative and work to positive

(b) SOIFCIS URSH THRICHS H 3T § AR FAPRICHS & HH Sl & / Electrode holder
1s connected to the positive and work to negative

(¢) T HRICHS & 3N aRe emmemr & / Work is positive and the holder is earthed

(d) YR HHRICHAS ¢ 3 FF GUART § / Holder is positive and work is earthed

SeeqUITd & §7?

What is WPS?

(a) afeser sHA A / Welding Program Standard

(b) ATesIT UlshaT Hew / Welding Procedure Standard

(c) afeser wigrar Afdsear / Welding Process Specification
(d) afeser gfshar Afrsedr / Welding Procedure Specification

TUHUHS 3T IX T T #ar §

ASME section IX refers to

(a) afesar, sfaer 3w t@ﬁﬂ eI’ / Welding, Brazing and fusing qualifications
(b) desT HT IEFIAT / Welders' qualification

(c) des JEgar / Weld qualification

(d) TASKET / NDT

9 775-TN(W)



34.

35.

36.

.

38.

30/4 &T 15% T &7
What is 15% of 30/4?

(a) 1.0 M 89

() 1.5 d 98

AR Raow Wed & 4 #la ar iteeafts 98 78 &2

Among the following stainless steels, which is not an Austenitic grade?

(a) TUNSUIEINS 321/ AISI 321 (b) THSTHIS 420/ AISI 420
(c) TUANBTIINTS 316/ AISI 316 (d)  UINSUH3INE 347/ AISI 347
Y odieTor Hr ITANT qar &9e & forw fosar sirar B

DP testing is used to detect;

(a) IR &Y / Internal defects

(b) 399de &9 / Subsurface defects

(c) HUdE & lg?—l?‘f #H &Y / Surface opening defects
(d) 39T § F HIS 7761 / None of the above

PrefaTad afeser uRFamst & & Sia o Sos-afede wikar 78 2

Among the following welding processes, which is not a cold-welding process?
(a) carg afesdr / Pressure welding

(b) ¥fAe A5 / Thermit welding

(¢) 3fecHifaie dfesdr / Ultrasonic welding

(d) 3RFT A & FIs 787 / None of the above

fAefafad gfshansit & @ =i d@r gl g9 arer des &t 87

Among the following processes, which one gives deep penetration weld?
(a) SRA3MET / DCRP

(b) SrdTEdr / DCSP

(c) THITIUw / ACHF

(d) 39ed # & s A87 / None of the above

10 T75-TN(W)



39.

40.

41.

42.

43.

44,

afeser afd 3R HAZ §;

Welding speed and HAZ are;

(a) ®ET / Exponential

(b) @ BHFI'OCIT%E / Directly proportional

(c) W@qﬁ-ﬂ' / Inversely proportional

(d) 39UFT H ¥ HIs =l / None of the above

gfcRrer Afeser & 3cdeet FoAT F raATald g3 garT sgad famar S §;

The heat generated in resistance welding is expressed by the following formula;

(a) H=IRTK () H=IRtK
) H=IRTK (d H=IRTK

mmﬁmmmﬂmmwwmm@aﬁamm

Which is the most commonly used solder alloy in the Soldering process?

(a) Pb-Ag (b) Sn-Ag
(¢) Pb-Sn (d) Cu-Ag

afeger gfhar #, At dleear 30V § 3R ORT 300 A § or afFa ar &2
In a Welding process, if the Voltage is 30 V and the Current is 300 A what is the Power?

(@) 9kW (b)  90kW

(¢) 900 kW (d) 9000 kW

e AR & R et F FET % T AR

To have good weldability the carbon % in steel shall be;

(a) 0.80% (b)  0.60%

() 0.40% d)  0.15%

sfeier Afesar # T TEdEr sas a1y ¢

The most preferred electrode metal in Resistance welding is

(a) dT&T / Copper (b) &HaeT e / Carbon steel

() ¥TeoTold T / Stainless steel (d) es-Tdfs ¥ / High-speed steel

11 TT5-TN(W)



45.

46.

47.

48.

49.

deg &1F &I gcdl ——— & SNl gidr Bl
The phenomenon of weld decay is due to

() HIfATH ﬂﬁ‘lé‘s}' & AT & FROT REIA ST @ / Depletion of Chromium due to

Chromium carbide formation
(b) deg AT HAZ FT &8R0T 3N &SN 8+ / Corrosion and weakening of weld or HAZ
(c) TAT T H 3=I FHlee / Higher carbon in Stainless steel
(d) 3Iued @A / All of the above

e off TTq3t T AfeST & v ged 39geEd B
Oxidizing flame is best suited for welding metals.

(a) ToToiT FTerel / Stainless steel
(b) dreT IR SEAT / Copper and Zinc
(c) el TS / Carbon steel

() vegHAtawe @ o, eed-3mRa By arg 3T / Aluminium alloys, Nickel-
based alloys etec.

tfafede 3 T 39T BT &

Acetylene gas is generated from

(a) SFIesT / Carbon (b)  FHfer™d / Calcium

(c) hfe’RIH ars¢e / Calcium Nitrate (d) ferMIHA FEES / Calcium carbide
rafaf@d # & wia @ ufthar wfaRrer afese gfsar a8t £72

Which of the following processes is not a resistance welding process?
(a) Tdic afesaT / Spot welding

(b) WSl dfesdT / Projection welding

(¢) =Yor 3feSdT / Friction welding

(d) 3Wed # & ®15 76T / None of the above

afeser # Rt Rrad @RoT @R 82

Distortion in welding occurs due to

(a) 31T HLc HT 3TAET / Use of excessive current

(b) IS SelFEIS HT 39T / Use of wrong electrodes

() dos o1 AR HWewl YR o] & TH AW faearX IR HFad / Uniform

expansion and contraction of weld metal and adjacent base metal

(d) des AR el 59 Acd & R-TAT [FEar 31 H;ﬁ?{ / Non-uniform expansion
and contraction of weld and adjacent base metal

12 775-TN(W)



50.

51.

52.

53.

54.

=i s afar & G B
Spot welding belongs to process.
(a) T 9T / Soldering

(b) Gfarer afeser / Resistance welding
(c) TIhall / Brazing

(d) B NGEAT dfesdT / Solid state welding

AF S AT o=t T S AT 3 Foldl, H& Afesa & ST 3cdfold TaFifaidd
IR-3MeTeor [AfRo & O vy v & HROT 8T &

Arc eye or Welders’ eye or Arc flash is caused due to any one of the following
non-ionisation radiations emitted during Arc welding;

(a) S=I¥8 / Infra-red (b)  9UEIET / Ultraviolet
(c) YA / Visible (d) SIH ¥ FIS AaT / None of these

fore afeser gfshar & 3usicT soisrels &1 39T AT Srar &7

In which welding process consumable electrodes are used?

(a) Gilé[(’%@c»q\/ GTAW (b) gfaer afeser / Resistance welding
(¢) 3" afeE9T / Gas welding (d) SlvATssey / GMAW

wﬁaﬁraﬁtéﬁiﬁwﬁwmaﬁmuﬁwé

The metal powder used in a thermit welding of steel is

(@) Al (b)  Cu
€ Pb @ W

FrTafaa afeser wiFash # 4, affs-Be AsT &1 vga it
Among the following welding processes, identify the solid-state welding
(a) THUHUSSeY / SMAW

(b) 3 afeseT / Gas welding

(c) Ta¥wics dfeser / Explosive welding

(d) STl S 38 / Electron beam welding
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55.

56.

57.

58.

59.

Ages T el dR W ST HIfEaT F q&T 327 §;

The main purpose of copper coating on the mild steel filler wire is;
(a) oSl & I8 F & fAT / To heat faster

(b) drehd Sl o T / To increase strength

(c) ST &9l ¥ S99 & faT / To avoid rusting

(d) 3 3ufRAfa & T / For good appearance

rfafad argst & & fra arg & arder aesar aed A1UE &2

Among the following metals, which metal has the highest thermal conductivity?

(a) T&F / Zine (by €T / Copper
(c) @oel Tl / Mild Steel (d) W@ﬁ'ﬂﬁ / Aluminum
SAW T FET oe gl

The main advantage of SAW is

(a) T & T 3=9 JAAG T / High deposition rate coupled with speed
(b) 3rTor IOTGcedT drell d¢s / Good quality weld

(c) &I H@Bﬂ' I dog Flel @l &7AdT / Capability to weld thick metals
(d) 39T TG / All the above

5T # @ FlT GTAW & g arer 7&T gt 2
One of the main defects that occur in GTAW
(a) TIEEST WATGUSA / Tungsten Inclusions (b))  EoHT HAWAS / Slag Inclusions

(¢) 39ATTT werrd / Inadequate penetration(d)  HIYAT / Porosities

IR &1 & fgele a1 Jel & HROT gt drel &1 &I UgereT {;

Identify the defect that occurs due to melting or burning away of base metal;

(a) I ST / Hot cracking () B3 WX / Cold cracking
(¢) 3fsT&he / Undercut (d) &Ii¢ / Spatter
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60.

61.

62.

63.

64.

65.

Tfafeeler &1 TS qF gl

The chemical formula of acetylene is

(@) CeH2 (b)  CoHa
(c) CzHs (d) C2Hs0H

fAFfafaa # @ i O IR-Fgarfad afesa ufsar §72

Among the following which is non-automatic welding process?

(a) SMAW () SAW
(¢) EBW (d LBW
37T sal garT fAdfya fear S gehar B

Arc blow can be controlled by

(a) QT8 e FeT / Increasing the welding current

(b) dfesaT FeE A FH FLT / Lowering the welding current

(c) ﬂﬁ’@'& YdTg @l HAMET &A HLell / Lowering the amount of Magnetic flux
(d) 3RFT H T SIS A8 / None of the above

37 afessr & adAT g HIfE &7 &7 Tehal g7

In arc welding, the temperature can be of the order of?

(2) 30000°C (b)  55000°C
(@) 20000°C (d  70000°C

fArfaf@d st foe des Siis I geffar g7

The following symbol represents what weld joint?

LR
(a) Thele des / Fillet weld (b) T de5 / Seam weld
(¢) TWic d¢3 / Spot weld (d) s&e-g &< do5 / Double-U butt weld

afeger ufshar & CW ==r geifar g7

In the welding process, what does CW indicate?
(a) 9fig dTesar / Cold welding

(b) @TaeT 31k aAfeg9T / Carbon arc welding
(¢) @I afesar / Copper Welding

(d) fres dfeger / Chipped welding
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66.

B7.

68.

69.

70.

frafafea arqst & 4 Hla-dr v Tl F 9fd yga &2
Among the following metals, which one is prone to Sensitization?

(a) AISI304L (b)  AISI 304
(c) AISI316L (d)  AIST 321

ST 37Teh dTosaT H YgFd SoiFgls HT YA &
The type of electrode used in submerged arc welding is:

(a) ofId SelFels / Coated electrodes

(b) MR SoFAIS / Copper electrodes
(c) 3elldd &5 / Bare rods
(d) IWBT FEIS / Graphite electrodes

HRAT ATl & AR, ST AN F AT HFR ——— IR IR R arm §
As per Indian Standards, the standard size of drawing boards is defined by

(a) A0, Al, A2 & A3 (b) BO,B1,B2 & B3
(¢ CO0,C1,C2&C3 (d) DO,D1,D2 & D3

Teh 39 & 1/1000 sTT& glar &

1/1000 of an inch is equal to

(a) 2.54 ASHIT / 2.54 microns ()  0.254 A / 0.254 mm
(c) 25.4 ASHIT / 25.4 microns (d) 2.45 ¥HT / 2.45em
IforT & Cosec O &7 & ®T H gFd Far Srar gl

In Mathematics Cosec 0 is expressed as

(a) Sin 8 T ghdA / Reciprocal of Sin 0

(b) woy/Ruda ST / Hypotenuse/Opposite side
(¢) Ful/dsad / Hypotenuse/Perpendicular

(d) 39T T / All the above
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Tl

72.

73.

74.

75.

ofoR a1 afeser 7 g oo’ 1 HET TER §;

The main type of laser used in Laser beam welding is;

(a) 3T ASR / Gas Laser (b) IS ¥ AR / Solid state Laser
(c) WIsaR oeiX / Fiber Laser (d) 3utea @l / All of the above

oo 1A dfesd Sisharst # d Hla 3fRe g &ar &2

Among the Laser beam welding processes, which one gives higher penetration?
(a) @dTeleT / Conduction

(b) GETIA/99 / Conduction / Penetration

(c) UsIc2lsT / 1@ / Penetration / Keyhole

(d) 3WEa & & ﬁ% o8l / None of the above

rAfai@d afeger ufhanstt & ¥ sla-ar IRTus afeger ufkar g2
Among the following welding processes, which is a non-contact welding process?

(a) SMAW (b) LBW
(c) GTAW (d GMAW

o o1 afesar & o7 g
The Merits of Laser beam welding are;
(a) &#HA A9 $AYC / Low heat input (b) 3=d qﬁ%_)@?—ll / High precision

(c) 3=d Ifd / High speed (d)  39UFT T@HT / All of the above

EBW #H U shigd 0T 3cded olal & ToIT 3= a1fd arel Soeelall &7 397 a7 87

In EBW what is the velocity of high-speed electrons to produce a focused beam?
(a) ORI T 91T 1.2/ 1.5 AT / 1.2 to 1.5 times the speed of light
(b)  RTRT T 31T 0.3 F 0.7 I[AT / 0.3 to 0.7 times the speed of light
(c) SRIRT ST ITfd 2.0 @ 2.5 9T / 2.0 to 2.5 times the speed of light

(d) WeRIer T Ifd & s / Equal to the speed of light
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76.

T

78,

79.

80.

EBW & degel o7 301 —— &I kel & o0 AT ST &

In EBW Vacuum is used to prevent

(@) ToIUT 39eTY / Beam dissipation

(b) 3TeFEIRTOT / Oxidation

(¢) 39Ued Gl / Both of the above

(d) 3WFT H & FIS 78T / None of the above

A T T AT T HieT AT §?

Which is the oldest form of welding?

(a) 3T aAfesaT / Arc welding

(b) e afesaT / Forge welding

(¢) 3JArFd-vfafeehe afeger / Oxy-Acetylene welding
(d) ¥die oS / Spot welding

3R I HJolol 3N 3, JLATIFS FIoeT TGAT T §72
In an Iron Carbon equilibrium diagram, what is eutectoid Carbon composition?

(@) 0.2% (b)  0.4%
© 0.8% d) 4.3%

Ife TRl &g &1 gefcd 8.0 gm/ce 3R 3MTAA 1000 cu.mm §; AT F4T §72

If the density of a metal is 8.0 gm/cc and Volume is 1000 cu.mm; what is the mass?

(a) 80gm (b) 8.0 gm
(¢) 0.8gm (d 80kg

Hiforsr gersal L, M 3R T &t 37 yRr aien®a fear o= &
Fundamental units L, M and T are defined as;

(a) a8, gegdA 3R AT / Length, Mass and Time

(b) ©ETS, oA 3R AT9HEET / Length, Mass and Temperature
() TS, gegaA 3T aF / Length, Mass and Torque

(d) @ers, a1fad 3R @7 / Length, Momentum and Time
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= HE & o =M / Space for rough work
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li=

= HE & fou w©E / Space for rough work
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